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Five jigsaw puzzle lovers are talking about the last puzzle they solved. Who solved the car jigsaw puzzle?

Shirt: black, blue, green, red, white Pieces: 800, 1200, 1600, 2000, 2400

Name: Charles, Eddie, Milton, Sean, Troy Time: 4 hours, 6 hours, 8 hours, 10 hours, 12 hours

Theme: animal, beach, car, nature, space Age: 10 years, 11 years, 12 years, 13 years, 14 years

Boy #1 Boy #2 Boy #3 Boy #4 Boy #5

© Brainzilla.com

The boy who solved the 2000 pieces puzzle is next to
the boy who solved the Nature puzzle.

The boy wearing the Green shirt is somewhere between
the youngest boy and the boy who took 12 hours to
solve his puzzle, in that order.

The boy wearing the Black shirt is somewhere to the
left of the boy that spent 6 hours to solve his puzzle.

The oldest boy solved the smallest jigsaw puzzle.

The boy that solved the Space themed puzzle is
somewhere to the right of the boy that is wearing the
Black shirt.

The 1600 piece puzzle was solved by the boy that is
somewhere between Charles and the 14-year-old boy, in
that order.

The boy wearing the White shirt is exactly to the left of
the boy who solved the Beach puzzle.

Charles is next to the boy who finished his puzzle in 10
hours.

The 13-year-old boy is wearing the Blue shirt.

Play This Zebra Puzzle
brainzilla.com/x/zp/65

The boy who solved the biggest puzzle is next to the
boy who solved the Beach jigsaw puzzle.

The 1200 piece puzzle was solved by the boy wearing
the Black shirt.

At the fourth position is the 11-year-old boy.
Sean is next to the boy wearing the Black shirt.
Milton is 11 years old.

The boy wearing the Green shirt is somewhere between
the boy wearing the Red shirt and the boy that solved
the 2400 piece puzzle, in that order.

Sean is exactly to the left of the who finished his jigsaw
puzzle in 4 hours.

Eddie is at the fifth position.

At one of the ends is the boy who solved the Animal
jigsaw puzzle.

The Nature themed jigsaw puzzle was solved in 10
hours.

Sean solved his puzzle in 12 hours.

© Brainzilla.com Play More Zebra Puzzles more [I{[=]
Free for printing and distribution for non-commercial brainzill /x/zeb 1 MIND
use only (home, schools, libraries and churches) rainzilla.com,x/zebra-puzzies TEASERS E



https://www.brainzilla.com/x/main/home/?src=BZPU1T&evt=copyright-footer/click
https://www.brainzilla.com/x/zebra-puzzles/?src=BZPU1T&evt=play-more/click
https://www.brainzilla.com/x/main/home/?src=BZPU1T&evt=logo/click
https://www.brainzilla.com/x/main/home/?src=BZPU1T&evt=copyright-game/click
https://www.brainzilla.com/x/zp/65/?src=BZPU1T&evt=link-widget/click

Jigsaw Joy

Zebra Puzzle (SR

Abrain

Five jigsaw puzzle lovers are talking about the last puzzle they solved.

Shirt: black, blue, green, red, white
Name: Charles, Eddie, Milton, Sean, Troy
Theme: animal, beach, car, nature, space
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The boy who solved the 2000 pieces puzzle is next to
the boy who solved the Nature puzzle.

The boy wearing the Green shirt is somewhere between
the youngest boy and the boy who took 12 hours to
solve his puzzle, in that order.

The boy wearing the Black shirt is somewhere to the
left of the boy that spent 6 hours to solve his puzzle.

The oldest boy solved the smallest jigsaw puzzle.

The boy that solved the Space themed puzzle is
somewhere to the right of the boy that is wearing the
Black shirt.

The 1600 piece puzzle was solved by the boy that is
somewhere between Charles and the 14-year-old boy, in
that order.

The boy wearing the White shirt is exactly to the left of
the boy who solved the Beach puzzle.

Charles is next to the boy who finished his puzzle in 10
hours.

The 13-year-old boy is wearing the Blue shirt.

Boy #2 Boy #3 Boy #4 Boy #5
blue

Who solved the car jigsaw puzzle?

Pieces: 800, 1200, 1600, 2000, 2400

Time: 4 hours, 6 hours, 8 hours, 10 hours, 12 hours

10 years, 11 years, 12 years, 13 years, 14 years
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The boy who solved the biggest puzzle is next to the
boy who solved the Beach jigsaw puzzle.

The 1200 piece puzzle was solved by the boy wearing
the Black shirt.

At the fourth position is the 11-year-old boy.
Sean is next to the boy wearing the Black shirt.
Milton is 11 years old.

The boy wearing the Green shirt is somewhere between
the boy wearing the Red shirt and the boy that solved
the 2400 piece puzzle, in that order.

Sean is exactly to the left of the who finished his jigsaw
puzzle in 4 hours.

Eddie is at the fifth position.

At one of the ends is the boy who solved the Animal
jigsaw puzzle.

The Nature themed jigsaw puzzle was solved in 10
hours.

Sean solved his puzzle in 12 hours.

© Brainzilla.com
Answers are for teacher and educator use only. Not for
public distribution. For educational settings exclusively.

Play More Zebra Puzzles
brainzilla.com/x/zebra-puzzles

MORE E E

MIND X
TEASERS [m]



https://www.brainzilla.com/x/main/home/?src=BZPU1T&evt=copyright-footer/click
https://www.brainzilla.com/x/zebra-puzzles/?src=BZPU1T&evt=play-more/click
https://www.brainzilla.com/x/main/home/?src=BZPU1T&evt=logo/click
https://www.brainzilla.com/x/main/home/?src=BZPU1T&evt=copyright-game/click
https://www.brainzilla.com/x/zp/65/?src=BZPU1T&evt=link-widget/click

